Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Govt. Mahamaya College Ratanpur

Academic Year: 2015 - 16



State: Government of Chhattisgarh

Sanction Number: N/5/2264/2/7/68936

Sanction Date: 30/01/2016

Applications Type: Fresh

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
499937	YASHPAL SINGH GONDH	Male	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
542643	Usha gond	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
549444	VINITA PAIKRA	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
1119067	DHARAM SINGH	Male	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
1130865	Nirmala Markam	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
1132313	shiv nath singh	Male	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
684558	MANISHA KUMARI	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
721890	AJAY KUMAR	Male	B. A./Arts/I	Fresh	9	230	2070	. 0	2110	2110	4180
758654	DEV CHARAN SINGH KAWAR	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
1156001	MANOJ LATA PAIKRA	Female	B. A./Arts/I	Fresh	70	230	2300	0	2110	P 2110	4410
1160871	YASHODHARA SIRSO	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
1162003	ANSHU SORTE	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
794698	PUSPLATA KUMARI GOUNDH	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
1115910	DEEPAK KUMAR	Male	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
1118856	JAY KUMAR	Male	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
1200194	PUNNI LAL EKKA	Male	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
1210783	LOVE KUMAR	Male	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
1115754	RAM SINGH MARAVI	Male	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180

#### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from ...Out of which Rs.....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online serial no. 1 to ..... I do here by sanctioning a sum of Rs. ..... scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

(Signature & Seal of Head of the Institution)
Name (Capital Leters):

Gout Mahamaya College, Hatanay

This Sanction is penerated by Beholarship Portal. Printed on 2/8/2016

MIC

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Govt. Mahamaya College Ratanpur



State: Government of Chhattisgarh

Sanction Number: N/5/2264/2/7/68936

Sanction Date: 30/01/2016

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
1132351	prakash singh	Male	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
1143717	MUKESH KUMAR	Male	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
1155873	LAXMIN PAIKRA	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
853880	MANMOTI PAV	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
785063	SUNITA KUMARI	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
785034	SAVITRI KUMARI	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
1175766	SAVITRI PORTE	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
1178117	RAMGOPAL BHANU	Male	B. A./Arts/I	Fresh	9	230	2070	.0	2110	2110	4180
1197868	TIRITH RAM	Male	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
782758	JASWANT SINGH	Female	B. A./Arts/I	Fresh	▶ 9	230	2070	0	210	2110	4180
781101	SUNITA KUMARI	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
781052	SAVITA KUMARI	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
1215374	PRADEEP KUMAR NETY	Male	B. A./Arts/I	Fresh	9	300	2700	0	1960	1960	4660
961001	YEENA TEKAM	Female	B. A./Arts/I	Fresh	9	230	2070	.0	2110	2110	4180
1155727	SHAKUNTALA PAIKRA	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
718816	RAJU KUMAR	Male	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
689029	avan kumar maravi	Male	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
595056	GULSHAN KUMAR MARAVI	Male	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180

#### Declaration:

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. ..............Out of which Rs. ......as maintenance allowance and Rs. ......as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date : (Signature & Seal of Head of the Institution)

Page 6/8

ship Portal. Printed on 2/8/2016

**Government of Chhattisgarh** 

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name : Govt. Mahamaya College Ratanpur

Academic Year: 2015 - 16



State: Government of Chhattisgarh

Sanction Number: N/5/2264/2/7/68936

Sanction Date: 30/01/2016

Applications Type: Fresh

pplication ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
784107	NEHA RAJ	Female	B. A./Arts/I	Fresh	9	230	2070	. 0	2110	2110	418
784052	CHANDRA KUMAR JAGAT	Male	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
784047	UMESH KUMAR	Male	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
542639	Subhadra gond	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
542637	JAYPRAKASH BIRKO	Male	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
541067	Durga gond	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
765071	RAJKUMAR KANWAR	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
758236	Anand Singh ,	Male	B. A./Arts/I	Fresh	9	230	2070	- 0	2110	2110	4180
722076	JAYANTI NETAM	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
538830	GUNJA SINGH	Female	B. A./Arts/I	Fresh 🟲	9	230	2070	0	<b>2110</b>	2110	4180
537864	Priyanka pardhan	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
537844	Nandani pao	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
59403	SHYAM LATA MARAVI	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
59396	PUSHPLATA MARAVI	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
55105	HARNAM SINGH MARKAM	Male	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
42866	ANITA Kumari Marawi	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
42504:	SUMITRA PORTE	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
423319	RAKESH KUMAR	Male	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180

#### Declaration:

Place : Date : 35

(Signature & Seal of Head of the Institution)
Name (Capitalharod)

Ashaman College Katano

s Sanction is generated by Schol Citie Portal. Printed on 2/8/2016

Page

HE

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Govt. Mahamaya College Ratanpur

Academic Year: 2015 - 16

State: Government of Chhattisgarh

Sanction Number: N/5/2264/2/7/68936

Sanction Date: 30/01/2016

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
540991	Pratima gond	Female	B. A./Arts/I	Fresh	9	230		0	2110	2110	418
540972	Kumari gond	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	418
540533	Ganga pardhan	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
36257	uma gond	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
35642	MATHUR PRASAD KANWAR	Male	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
30622	PURNIMA GOND	Female	B. A./Arts/I	Fresh	. 9	230	2070	0	2110	2110	4180
45016	KANTI PAIKRA	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
45008	SHIV KUMARI PAIKRA	Female	B. A./Arts/I	Fresh	9	. 230	2070	0	2110	2110	4180
43939	4 Sandeep Kumar	Male	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
30615	NAGESHWAR PRASAD KANWAR	Male	B. A./Arts/I	resh	9	230	2070	• 0	2110	2110	4180
22157	5 BIMA KUMARI GOND	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
120343	3 shiv shankar	Male	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
3861	2 CHANDRASHEKHAR Singh	Male	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
3740	2 SUSHIL KUMAR	Male	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
3726	8 ANITA ARMO	Female	B. A./Arts/I	Fresh	9	230	2070	0	2110	2110	4180
						Total:	307090	0	380560	380560	687650

#### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. ......Out of which Rs. .....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date: (Signature & Seal of Head of the Institution)
Name (Capital Leters):

Boyt Mahamaya College, Katanpu

1

Page 8/8

This Sanction is generated by Scholarship Portal. Printed on 2/8/2016

Cort. Manamys College Rataupur Sanction NotR/5/2264/2/7/69275 Category - ST - Renewal Year - 2015- 16

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Govt. Mahamaya College Ratanpur

Academic Year: 2015 - 16

State: Government of Chhattisgarh

Sanction Number: R/5/2264/2/7/69275

Sanction Date: 30/01/2016 Applications Type: Renewal

lication ID	Student Name	Gender	Course )	Type	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
858054	RAJNANDNI ARMO	Female	B. A./Arts/II	Renewal	9	300	2700	0	1910	1910	4610
378919	MELU RAM	Male	B. A./Arts/II	Renewal	9	300	2700	0	1960	1960	4660
467700	SUSHAMA PORTE	Female	B. A./Arts/III	Renewal	9	300	2700	0	1960	1960	4660
499524	satruhan no surname	Male	B. A./Arts/II	Renewal	9	300	2700	0	1960	1960	4660
499932	SHAKUNTALA KUMARI GONDH	Female	B. A./Arts/II	Renewal	9	300	2700	0	1960	1960	4660
500670	VINITA KAWAR	Female	B. A./Arts/II	Renewal	9	300	2700	0	1960	1960	4660
276557	SAMMAR SINGH MARKAM	Male	M. A./Pol. Science/II	Renewal	9	530	4770	. 0	1905	1905	6675
213885	SHASHIKALA SHYAM	Female	M. A./Sociology/III	Renewal	9	530	4770	0	1905	1905	6675
213785	DUKHIRAM NETAM	Male	M. A./Sociology/III	Renewal	9	530	4770	0	1905	1905	6675
379146	PUSHPENDRA KUMAR	Male	B. Sc./Computer Science/II	Renewal	9	300	2700	0	9000	9000	11700
845757	VIKRAM PRATAP PORTE	Male	B. Sc./Science/II	Renewal	9	300	2700	0	3000	3000	5700
879247	NIDHI SHYAM	Female	B. Sc./Science/II	Renewal	9	300	2700	0	3000	3000	5700
1189137	SANJAY KUMAR MARAVI	Male	B. Sc./Science/III	Renewal	9	300	2700	0	3000	3000	
	CHANDRA KUMAR	Male	B. Sc./Science/II	Renewal	9	300	2700	0	8000	8000	
	Rajendra kumar maravi	Male	B. Sc./Science/II	Renewal	9	300	2700	0		3000	
- Commence of	NARESH KUMAR RAJ	Male	M. A./History/II	Renewal	9	530	4770	0	1905	1905	
	SUMAN MARAKAM	Female	B. Sc./Science/II	Renewal	9	300	2700	0	3000	3000	5700

#### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. ......Out of which Rs.....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

Page 1/7

(Signature & Seal of Head of the Institution)

PHIC

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Govt. Mahamaya College Ratanpur

Academic Year: 2015 - 16



State: Government of Chhattisgarh

Sanction Number: R/5/2264/2/7/69275

Sanction Date: 30/01/2016

Total Park Park Total	Marian Control of the	and the Committee of th						200000000000000000000000000000000000000	s Type: Rei		
Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
382445	priyanka pradhan	Female	B. Sc./Science/III	Renewal	9	300	2700	0	8000	8000	10700
368816	jayanti gond	Female	B. Sc./Science/II	Renewal	9	300	2700	0	3000	3000	5700
356726	DEEPAK KUMAR	Male	B. Sc./Science/III	Renewal	9	300	2700	0	3000	3000	5700
213878	ANITA KUMARI KANWAR	Female	B. Sc./Science/II	Renewal	9	300	2700	0	8000	8000	10700
485918	Samgita kumari Paikra	Female	B. Sc./Science/II	Renewal	9	300	2700	0	8000	8000	10700
454285	DURGESHWARI GOND	Female	B. Sc./Science/III	Renewal	9	300	2700	0	3000	3000	5700
886170	SUJEET kumar	Male	B. Sc./Science/II	Renewal	9	300	2700	0	3000	3000	5700
388471	shalini pradhan	Female	B. Sc./Science/II	Renewal	9	300	2700	0	3000	3000	5700
499956	SUNIL KUMAR GONDH	Male	B. Sc./Science/II	Renewal	9	300	2700	0	3000	3000	5700
<b>412897</b>	PALLAWI PAIKARA	Female	B. Sc./Science/III	Renewal	9	300	2700	0	8000	8000	10700
499909	SUBHADRA KUMARI GONDH	Female	B. Sc./Science/III	Renewal	8	300	2400	0	3000	3000	5400
254456	Lalita Warkade	Female	B. Com./Commerce/III	Renewal	9	300	2700	0	1960	1960	4660
367518	dhaneshwari gond	Female	B. Sc./Science/III	Renewal	9	300	2700	0	3000	3000	5700
379046	RAGHU RAJ SINGH	Male	B. Sc./Science/III	Renewal	9	300	2700	.0	3000	3000	5700
379549	sushma gond	Female	B. Sc./Science/II	Renewal	9	300	2700	0	3000	3000	5700
379658	KAPIL SINGH	Male	B. Sc./Science/II	Renewal	9	300	2700	. 0	3000	3000	5700
417177	DHARMENDRA KUMAR PRADHAN	Male	B. Sc./Science/III	Renewal	9	300	2700	0	3000	3000	5700

#### **Declaration:**

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ..... I do here by sanctioning a sum of Rs. .....Out of which Rs.....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Date :

ちしいら (Signature & Seal of Head of the Institution) Name (は**対応するよ**):

Fort Mahamaya College, Hatono

This Sanction is the raise of the Portal Printed on 2/8/2016

计

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Govt. Mahamaya College Ratanpur

Academic Year: 2015 - 16



State: Government of Chhattisgarh

Sanction Number: R/5/2264/2/7/69275

Sanction Date: 30/01/2016

lication ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amount
367567	sarswati khairvar	Female	B. Com./Commerce/II	Renewal	9	300	2700	0	1960	1960	4660
499955	AASHNIK KUMARI GONDH	Female	B. Com./Commerce/II	Renewal	9	300	2700	0	1960	1960	4660
865447	KAMALKANT PARDHAN	Male	B. Com./Commerce/II	Renewal	9	300	2700	0	1960	1960	4660
513684	MAHENDRA PAIKRA	Male	B. Com./Commerce/II	Renewal	9	300	2700	0	1960	1960	4660
500146	SURAJ KUMAR MARKAM	Male	B. Com./Commerce/III	Renewal	9	300	2700	0	1960	1960	4660
221044	AMRITKUNWAR GOND	Female	B. Com./Commerce/II	Renewal	9	300	2700	0	1960	1960	4660
557364	SUSHMA DHRUW	Female	B. A./Arts/II	Renewal	9	300	2700	0	1960	1960	4660
588237	RADHA MARAWI	Female	B. A./Arts/III	Renewal	9	300	2700	0	1960	1960	4660
595166	SANJAY ARMO	Female	B. A./Arts/III	Renewal	9	300	2700	0	1960	1960	4660
595391	RUKHMAT MARKAM	Female	B. A./Arts/III	Renewal	9	■300	2700	0	1960	1960	4660
620146	AKTI BAI	Female	B. A./Arts/III	Renewal	9	300	2700	0	1960	1960	4660
857578	ANURADHANA RAJ	Female	B. A./Arts/II	Renewal	9	300	2700	0	1960	1960	4660
883999	MANJULATA MARKAM	Female	B. A./Arts/II	Renewal	9	300	2700	0	1960	1960	4660
895547	JAGESHWARI NETAM	Female	B. A./Arts/II	Renewal	9	300	2700	0	1960	1960	4660
949742	SURENDRA KUMAR JAGAT	Male	B. A./Arts/II	Renewal	9	300	2700	0	1960	1960	4660
968115	SUKHRAM TOPPO	Male	B. A./Arts/II	Renewal	9	300	2700	- 0	1960	1960	466
1034946	GANGA RAM	Male	B. A./Arts/II	Renewal	9	300	2700	. 0	1960	1960	
1120032	RAKESH KUMAR	Male	B. A./Arts/II	Renewal	9	300	2700	0	1960	1960	

#### Declaration :

rtified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from	
rial no. 1 to I do nere by sanctioning a sum of KsOut of which Rsas maintenance allowance and Rsas tuition and other foca Detact and Rs	
notarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and applied income of passing last qualifying exam, caste certificate of candidate and applied income of passing last qualifying exam.	
ndidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinuous the studies are applicant.	
y other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the posted in actions the studies or accept	LS

Place: Date :

Page 3/7

(Signature & Seal of Head of the Institution)
Name (Capital Leters):
Govt Mahamaya College, Ratano

This Sanction s generated by Scholarship Portal. Printed on 2/8/2016

RHC

Government of Chhattisgarh

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Govt. Mahamaya College Ratanpur

Academic Year: 2015 - 16



Sanction Number: R/5/2264/2/7/69275

Sanction Date: 30/01/2016 Applications Type: Renewal

Application ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Am
1142876	ANITA NETAM	Female	B. A./Arts/II	Renewal	9	300	2700	0	1960	1960	
1173574	JANKI SORTHE	Female	B. A./Arts/II	Renewal	9	300	2700	0	1960	1960	
1185183	ASHOK KUMAR MARAVI	Male	B. A./Arts/III	Renewal	9	300	2700	0	1960	1960	
1202007	AKSHAY KUMAR	Male	B. A./Arts/II	Renewal	9	300	2700	0	1960	1960	
1165082	CHUNAMANI KANWAR	Male	B. A./Arts/III	Renewal	9	300	2700	0	1960	1960	
866902	VIDAY KUMAR	Male	B. A./Arts/II	Renewal	9	300	2700	0	1960	1960	72.12.11
860104	NIRMALA DHORW	Female	B. A./Arts/II	Renewal	9	300	2700	0	1960	1960	77

1172070	ANTIA NETAPI	remale	B. A./ARS/II	Kenewai	9	300	2/00	U	1900	1900	4000
1173574	JANKI SORTHE	Female	B. A./Arts/II	Renewal	9	300	2700	0	1960	1960	4660
1185183	ASHOK KUMAR MARAVI	Male	B. A./Arts/III	Renewal	9	300	2700	0	1960	1960	4660
1202007	AKSHAY KUMAR	Male	B. A./Arts/II	Renewal	9	300	2700	0	1960	1960	4660
1165082	CHUNAMANI KANWAR	Male	B. A./Arts/III	Renewal	9	300	2700	0	1960	1960	4660
866902	VIJAY KUMAR	Male	B. A./Arts/II	Renewal	9	300	2700	0	1960	1960	4660
860104	NIRMALA DHORW	Female	B. A./Arts/II	Renewal	9	300	2700	0	1960	1960	4660
846520	KISHAN KUMAR BHANU	Male	B. A./Arts/III	Renewal	9	300	2700	0	1960	1960	4660
846057	DEV KUMARI MARKAM	Female	B. A./Arts/II	Renewal	9	300	2700	0	1960	1960	4660
845684	AMIT KUMAR ARMO	Male	B. A./Arts/II	Renewal	9	300	2700	0	1960	• 1960	4660
842265	RAVI SHANKAR TOPPO	Male	B. A./Arts/II	Renewal	9	300	2700	0	1960	1960	4660
622476	SANGEETA UIKEY	Female	B. A./Arts/III	Renewal	9	300	2700	0	1960	1960	4660
613753	NIRASIYA RAJ	Female	B. A./Arts/III	Renewal	9	300	2700	0	1960	1960	4660
609941	gayatree porte	Female	B. A./Arts/III	Renewal	9	300	2700	0	1960	1960	4660
601993	FULESHWARI PAIKRA	Female	B. A./Arts/III	Renewal	9	300	2700	0	1960	1960	4660
596116	NEELU PAIKRA	Female	B. A./Arts/III	Renewal	9	300	2700	0	1960	1960	4660
546857	VIRENDRA BAHADUR PRATAP SINGH	Male	B. A./Arts/II	Renewal	9	300	2700	0	1960	1960	4660

### Declaration:

scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

(Signature & Seal of Head of the Institution)

Name (Capital Leters):

an College, Ratang. n is generated specification Portal. Printed on 2/8/2016

HE

**Government of Chhattisgarh** 

Scholarship Scheme: Post Matric ST Scholarship

Category: ST

Institute Name: Govt. Mahamaya College Ratanpur

Academic Year: 2015 - 16



Sanction Number: R/5/2264/2/7/69275

Sanction Date: 30/01/2016 Applications Type: Ren

oplication ID	Student Name	Gender	Course	Туре	No. of Month	Rate	Maintenence Allowance	Tuition Fee	Other Fee	Total Fee	Total Amoun
501946	KRISHNA KUMAR	Male	B. A./Arts/II	Renewal	9	300	2700	0	1960	1960	466
501690	ARVIND KUMAR	Male	B. A./Arts/II	Renewal	9	300	2700	0	1960	1960	4660
499872	RAVINA KUMARI GONDH	Female	B. A./Arts/II	Renewal	9	300	2700	0	1960	1960	4660
432944	sita pathari	Female	B. A./Arts/II	Renewal	9	300	2700	0	1960	1960	4660
406684	MOHAN SINGH	Male	B. A./Arts/II	Renewal	9	300	2700	0	1960	1960	4660
385961	SUNIL KUMAR	Male	B. A./Arts/II	Renewal	9	300	2700	0	1960	1960	4660
379601	namrata pardhan	Female	B. A./Arts/II	Renewal	9	300	2700	0	1960	1960	4660
369083	prabha kumari gond	Female	B. A./Arts/II	Renewal	9	300	2700	0	1960	1960	4660
368892	sangita binjhvar	Female	B. A./Arts/II	Renewal	9	300	2700	0	1960	1960	4660
367659	radhika gond	Female	B. A./Arts/II	Renewal	▶ 9	300	2700	0	1960	1960	4660
364906	madhu gond	Female	B. A./Arts/II	Renewal	9	300	2700	0	1960	1960	4660
362217	ashwini pradhan	Female	B. A./Arts/II	Renewal	9	300	2700	0	1960	1960	4660
361590	CHANDRABHAN SING	Male	B. A./Arts/II	Renewal	9	300	2700	0	1960	1960	4660
328421	VRIDH SINGH GOND	Male	B. A./Arts/II	Renewal	9	300	2700	0	1960	1960	4660
306551	GAYATRI MARAVI	Female	B. A./Arts/II	Renewal	9	300	2700	0	1960	1960	4660
277745	Binda Markam	Female	B. A./Arts/III	Renewal	9	300	2700	0	1960	1960	4660
20000000	GAJENDRA BAHADUR SORTHE	Male	B. A./Arts/III	Renewal	9	300	2700	0	1960	1960	4660
	Ishwari Kol	Female	B. A./Arts/III	Renewal	9	300	2700	0	1960	1960	4660

<b>Declaration</b>	Dec	la	raf	li	0	n	
--------------------	-----	----	-----	----	---	---	--

Certified that students studying in this institution are entitled for post matric scholarship and after thoroughly examining the scholarship applications included in the above proposal from serial no. 1 to ...... I do here by sanctioning a sum of Rs. ......Out of which Rs. .....as maintenance allowance and Rs. .....as tuition and other fees. Printed copy of online scholarship form attached with certified copy of mark sheet of passing last qualifying exam, caste certificate of candidate and annual income of Parents/Guardian from all sources of the candidate have been kept safely in the office and will be subject to verification of competent authority. In case the applicant leaves institution or otherwise discontinues the studies or accepts any other regular scholarship/stipend the fact will be immediately reported to the authority for eventual discontinuance of scholarship/stipend from the period it is detected.

Place: Date:

ngnature & Seal of Head of the Institution) Name Cantal Central

Govt Mahamaya Collage, Katanpu.

Page 5/7

洲